Stat 2470, Quiz #16, Fall 2014 Name KE \(

Instructions: Show all work. Use exact answers or appropriate rounding conventions. If you use your
calculator, you can show work by saying which calculator commands you used.

1. Use the data below to answer the following questions.

X 23 45 68 91 114 136 159 | 182 205 228
y 53.3 269 54.8 33.8 299 8.2 17.2 12.2 3.2 11.1
a. Find the linear regression line and determine the percent of variation explained by the linear
relationship.
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b. Calculate and interpret a 95% prediction interval for x=100. qb é
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¢. Find a confidence interval for the correlation coefficient.
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d. Calculate the residuals for the regression line calculated above, and sketch the graph below.
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